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E–620 

M. A. (Third Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

SOCIOLOGY 

Paper Fourteenth 

(Industry and Society in India—I) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- „The Division of Labour in Society‟ ds ys[kd dkSu gSa \ 

¼v½ bekby nq[khZe 
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¼c½ eSDl oscj 

¼l½ dkyZ ekDlZ 

¼n½ dkyZ ikWij 

Who is the author of „The Division of Labour in Society‟ ? 

(a) Emile Durkheim 

(b) Max Weber 

(c) Karl Marx 

(d) Karl Popper 

2- ^’kkWi eSustes.V* fdlus fy[kk gS \ 

¼v½ ÝsMfjd ÇoLyks Vsyj 

¼c½ ,YVu es;ks 

¼l½ gsujh Qs;ksy 

¼n½ psLVj cukZMZ 

Who wrote „Shop Management‟ ? 

(a) Frederick Winslow Taylor 

(b) Elton Mayo 

(c) Henry Fayol 

(d) Chester Bernard 

3- oSKkfud izcU/ku dk fl)kUr fdlds vk/kkj ij fodflr fd;k x;k  

Fkk \ 

¼v½ voyksdu 

¼c½ iz;ksx 

¼l½ eSustj dk O;fDrxr vuqHko 

¼n½ mi;qZDr lHkh 
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Which basis the principles of scientific management had 

been developed ? 

(a) Observation 

(b) Experiment 

(c) Personal experience of the manager 

(d) All of the above 

4- ^v¡xwBs dk fu;e* lUnÆHkr djrk gS % 

¼v½ izcU/ku ds eqíksa ls fuiVus esa O;fDrxr fu.kZ; dk mi;ksx 

¼c½ izcU/ku dh leL;kvksa ds lek/kku ds fy, fgV ,.M Vªk;y 

nf̀”Vdks.k dks viukuk 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ dsoy ¼c½ 

„Rule of Thumb‟ refers to : 

(a) Use of personal judgement in handling management 

issues 

(b) Adopting a hit and trial approach to resolve 

management problems 

(c) Both (a) and (b) 

(d) Only (b) 

5- fuEufyf[kr esa ls dkSu&lk le; v/;;u dk ,d mís’; gS \ 

¼v½ fo;ksftr fd, tkus okys Jfedksa dh la[;k fu/kkZfjr djus ds 

fy, 

¼c½ mi;qDr izksRlkgu ;kstuk,¡ rS;kj djuk 

¼l½ Je ykxr dh x.kuk djuk 

¼n½ mi;qZDr lHkh 
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Which of the following is an objective of time study ? 

(a) To determine the number of workers to be employed 

(b) To formulate suitable incentive schemes 

(c) To calculate the labour costs 

(d) All of the above 

6- le;] xfr ,oa Fkdku ds fl)kUr ls lEcfU/kr gSa % 

¼v½ ÝsMfjd ÇoLyks Vsyj 

¼c½ ,YVu es;ks 

¼l½ gsujh Qs;ksy 

¼n½ vysDts.Mj 

The principle of time, motion and fatigue is related  

to : 

(a) Frederick Winslow Taylor 

(b) Elton Mayo 

(c) Henry Fayol 

(d) Alexander 

7- fdl izdkj dk laxBu LFkk;h ,oa fLFkj gksrk gS \ 

¼v½ vkSipkfjd laxBu 

¼c½ vukSipkfjd laxBu 

¼l½ O;kikj laxBu 

¼n½ lkefjd laxBu 
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Which type of organization is permanent and stable ? 

(a) Formal organization 

(b) Informal organization 

(c) Business organization 

(d) Strategic organization 

8- fdl izdkj dk laxBu turk ,oa muds lEcU/kksa dks egRo nsrk gS \ 

¼v½ vkSipkfjd laxBu 

¼c½ vukSipkfjd laxBu 

¼l½ dsoy ¼c½ 

¼n½ buesa ls dksbZ ugha 

Which type of organization gives importance to people and 

their relationships ? 

(a) Formal organization 

(b) Informal organization 

(c) Only (b) 

(d) None of these 

9- ßfdlh lkekU; mís’;ksa dh izkfIr ds fy;s fof’k”V vaxksa dk eS=hiwoZd 

la;kstu gh laxBu dgykrk gSAÞ ;g ifjHkk”kk fdlus nh gS \ 

¼v½ ,p- ,p- gSus 

¼c½ vkj- lh- Msfol 

¼l½ th- bZ- feyoMZ 

¼n½ fofy;e Lizhxy 



 [ 6 ] E–620 

 

“Organization is a harmonious adjustment of specialised 

parts for accomplishment of some common purposes.” Who 

gave this definition ? 

(a) H. H. Haney 

(b) R. C. Davis 

(c) G. E. Milward 

(d) William Spreigel 

10- fuEufyf[kr esa ls dkSu&lh vkSipkfjd laxBu dh fo’ks”krk gS \ 

¼v½ lksís’; xBu 

¼c½ fu;eksa dh dBksjrk 

¼l½ fu;eksa ,oa dk;Ziz.kkfy;ksa ij vk/kkfjr 

¼n½ mi;qZDr lHkh 

Which of the following is characteristic of formal 

organization ? 

(a) Purposeful formation 

(b) Strictness of rules 

(c) Based on rules and regulations 

(d) All of the above 

11- fo’o i;kZoj.k fnol dc euk;k tkrk gS \ 

¼v½ 5 vizSy 

¼c½ 5 ebZ 

¼l½ 5 twu 

¼n½ 5 tqykbZ 
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On which day is World Environment Day celebrated ? 

(a) 5 April 

(b) 5 May 

(c) 5 June 

(d) 5 July 

12- dkyZ ekDlZ ds vuqlkj lkekftd Lrjhdj.k ds fdrus izdkj gksrs gSa \ 

¼v½ 2 

¼c½ 4 

¼l½ 6 

¼n½ 8 

According to Karl Marx, how many types of social 

stratification are there ? 

(a) 2 

(b) 4 

(c) 6 

(d) 8 

13- fdlus vfHkizsj.kk dk X vkSj Y fl)kUr fn;k gS \ 

¼v½ eSd~xzsxj 

¼c½ Mxyl 

¼l½ fydVZ 

¼n½ gtZcxZ 
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Who has given X and Y theory of motivation ? 

(a) McGregor 

(b) Douglus 

(c) Likert 

(d) Herzberg 

14- fuEufyf[kr esa ls fdldh vko’;drk vfHkizsj.kk ds inkuqØe fl)kUr 

ds rgr mPpre Lrj dh vko’;drk gS \ 

¼v½ ‘kkjhfjd vko’;drk 

¼c½ cpko ,oa lqj{kk lEcU/kh vko’;drk 

¼l½ lkekftd vko’;drk 

¼n½ vkRe&lUrqf”V lEcU/kh vko’;drk,¡ 

Which among the following is the highest level need under 

Need Hierarchy theory of motivation ? 

(a) Physiological needs 

(b) Safety and Security needs 

(c) Social needs 

(d) Self-actualization needs 

15- fuEufyf[kr esa ls fdldh vko’;drk vfHkizsj.kk ds inkuqØe fl)kUr 

ds rgr fuEure Lrj dh vko’;drk gS \ 

¼v½ ‘kkjhfjd vko’;drk 

¼c½ cpko ,oa lqj{kk dh vko’;drk 

¼l½ lkekftd vko’;drk 

¼n½ vkRe&lUrqf”V lEcU/kh vko’;drk 
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Which among the following is the lowest level need under 

Need Hierarchy theory of motivation ? 

(a) Physiological needs 

(b) Safety and security needs 

(c) Social needs 

(d) Self-actualization needs 

16- uSfrdrk ds fl)kUr fdlds }kjk fy[ks x;s gSa \ 

¼v½ gjcVZ LisUlj 

¼c½ tkWtZ flesy 

¼l½ bekby nq[khZe 

¼n½ vkWxLV dkWEVs 

Principles of Ethics is written by : 

(a) Herbert Spencer 

(b) George Simmel 

(c) Emile Durkheim 

(d) Auguste Comte 

17- vyxko dh vo/kkj.kk fdlds }kjk fodflr dh xbZ gS \ 

¼v½ dkyZ ekDlZ 

¼c½ gjcVZ LisUlj 

¼l½ vkWxLV dkWEVs 

¼n½ eSDl oscj 
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The concept of alienation is developed by : 

(a) Karl Marx 

(b) Herbert Spencer 

(c) Auguste Comte 

(d) Max Weber 

18- fuEufyf[kr esa ls dkSu&lh oscj dh Ñfr gS \ 

¼v½ nh izksVsLVsaV bfFkd ,.M nh fLifjV vkWQ dSihVfyTe 

¼c½ nh gksyh QSfeyh 

¼l½ ekb.M ,.M lkslkbVh 

¼n½ nh fMohtu vkWQ yscj bu lkslkbVh 

Which of the following is Weber‟s work ? 

(a) The Protestant Ethic and the Spirit of Capitalism 

(b) The Holy Family 

(c) Mind and Society 

(d) The Division of Labour in Society 

19- ÝsMfjd ÇoLyks Vsyj dk fl)kUr fdlls lEcfU/kr gS \ 

¼v½ le; 

¼c½ xfr 

¼l½ Fkdku 

¼n½ mi;qZDr lHkh 
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Frederick Winslow Taylor‟s theory is related to : 

(a) Time 

(b) Motion 

(c) Fatigue 

(d) All of the above 

20- fuEufyf[kr esa ls fdlus igyh ckj vkÆFkd fodkl ij /kkÆed 

fo’oklksa ds izHkko dk fo’ys”k.k fd;k gS \ 

¼v½ dkyZ ekDlZ 

¼c½ eSDl oscj 

¼l½ VkydkWV ikjlal 

¼n½ gjcVZ LisUlj 

Who among the following analyzed the impact of religious 

beliefs an economic growth for the first time ? 

(a) Karl Marx 

(b) Max Weber 

(c) Tolcot Parsons 

(d) Herbert Spencer 

 [k.M&c izR;sd 1½  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- oSKkfud izcU/ku D;k gS \ 

What is scientific management ? 
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2- foosdhdj.k ls D;k rkRi;Z gS \ 

What do you mean by rationalization ? 

3- vkSipkfjd laxBu ls vki D;k le>rs gSa \ 

What do you understand by formal organization ? 

4- js[kh; laxBu D;k gS \ 

What is line organization ? 

5- ifjokj dks ifjHkkf”kr dhft;sA 

Define family. 

6- vkS|ksxhdj.k ls vki D;k le>rs gSa \ 

What do you understand by industrialization ? 

7- dk;Z uSfrdrk ls D;k rkRi;Z gS \ 

What is meant by work ethics ? 

8- vfHkizsj.kk D;k gS \ 

What is motivation ? 

9- Lopyu ls vki D;k le>rs gSa \ 

What do you understand by automation ? 

10- izkS|ksfxdh ls D;k rkRi;Z gS \ 

What is meant by technology ? 
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 [k.M&l izR;sd 2½  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vkS|ksfxd ukSdj’kkgh ls vki D;k le>rs gSa \ bldh nks fo’ks”krk,¡ 

fyf[k,A 

What do you understand by industrial bureaucracy ? Write 

its two characteristics. 

2- Je foHkktu ds mís’;ksa dks fyf[k,A 

Write the objectives of division of labour. 

3- vkSipkfjd laxBu dh fo’ks”krkvksa dks le>kb,A 

Explain the characteristics of formal organization. 

4- foHkkxh; laxBu dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of staff organization. 

5- ifjokj ij vkS|ksxhdj.k ds ldkjkRed izHkko dh foospuk dhft,A 

Discuss the positive impact of industrialization on family. 

6- O;oLFkkiu ls vki D;k le>rs gSa \ le>kb,A 

What do you understand by settlement ? Explain. 
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7- vfHkizsj.kk ds izdkjksa dk o.kZu dhft,A 

Describe the types of motivation. 

8- dk;Z uSfrdrk ds egRo dks le>kb,A 

Explain the importance of work ethics. 

9- izkS|ksfxdh dk vkS|ksfxd lekt ij izHkko crkb,A 

Explain the impact of technology on industrial society. 

10- Lopyu dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of automation. 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ‘kCn&lhek 150 ‘kCnA 

 Attempt all questions. Word limit 150 words. 

1- ÝsMfjd ÇoLyks Vsyj ds oSKkfud izcU/ku ds fl)kUr dks le>kb,A 

Explain the theory of scientific management of Frederick 

Winslow Taylor. 

vFkok 

¼Or) 

 vkS|ksfxd ukSdj’kkgh ds xq.k&nks”kksa dh foospuk dhft,A 

Discuss the merits and demerits of industrial bureaucracy. 
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2- vukSipkfjd laxBu D;k gS \ vukSipkfjd laxBu dh fo’ks”krkvksa dk 

o.kZu dhft,A 

What is informal organization ? Describe the characteristics 

of informal organization. 

vFkok 

¼Or) 

 js[kh; ,oa foHkkxh; laxBu dks le>kb,A 

Explain line and staff organization. 

3- lkekftd Lrjhdj.k ls vki D;k le>rs gSa \ eSDl oscj ds lkekftd 

Lrjhdj.k dks le>kb,A 

What do you understand by social stratification ? Explain the 

social stratification of Max Weber. 

vFkok 

¼Or) 

 vkS|ksxhdj.k ds lkekftd i;kZoj.k ij izHkko dks Li”V dhft,A 

Clarify the impacts of industrialization on the social 

environment. 

4- eSLyks ds vfHkizsj.kk ds fl)kUr dk o.kZu dhft,A 

Describe Maslow‟s theory of motivation. 

vFkok 

¼Or) 

 dk;Z lUrqf”V ls vki D;k le>rs gSa \ dk;Z lUrqf”V dk m|ksx esa 

egRo crkb,A 

What do you understand by work satisfaction ? Mention the 

importance of work satisfaction in industry. 



 [ 16 ] E–620 

 

5- izkS|ksfxdh ifjorZu dk lkekftd lajpuk ij izHkko crkb,A 

Explain the impact of technological change on social 

structure. 

vFkok 

¼Or) 

 Lopyu ds xq.k ,oa nks”kksa dh foospuk dhft,A 

Describe the merits and demerits of automation. 
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